= DR ACADEMY

DO RIGHT FOR GENUINE EDUCATION

#42, 100FT ROAD,
KAMMAGONDANAHALLI,
JALAHALLI WEST,
BENGALURU - 560 015
Phone : 9008030463
9008030896 / 9513330437

HOSKOTE - MALUR ROAD,

ISRI CROSS, KATTIGENAHALLI,

JADIGENAHALLI HOBLI,
BENGALURU - 562114
Phone : 9741332998
8147397999 / 9535527713

PLOT NO.87, VAHINI NIVAS
MATRUSRI NAGAR COLONY,
HAFEEZ PET, MIYAPUR,
HYDERABAD - 500049
Phone : 8977548407
8977548408 / 8977548409

LONG TERM GOAGHING
1ST BATCH FOR NEET - 2028

KCET EXAMINATION - 2025
MATHEMATICS YNy b R V1 P13 : 10. -11.

VERSION

TIME : 10.30 AM -11.50 AM Ca

WAL STARTS ON

JUNE - 2025

NEET TOPPERS OF DR ACADEMY

NEET - 2024 | JIPMER - PUDUCHERRY NEET - 2021 | JIPMER - PUDUCHERRY

NEET - 2024 | BMC - BANGALORE NEET - 2024 | BMC - BANGALORE

NEET - 2024 | BIMC - BELAGAVI NEET - 2024 | KIMS - HUBLI

~ ADITYA SAKRI

SHRAVAN REDDY C N

NEET - 2022 | BIMC, BELAGAVI

~ SACHI KALLOLI

N -~
MOHAMMED SULEMAN CHATHUSH GOWDA D S

NEET - 2022 | BMC, BANGALORE

AS J -~
CHANDANA D SOWRAV B

NEET - 2024 | MMCRI - MYSORE

ZOYA FIRDOUSE

NEET - 2024 | KIMS - HUBLI NEET - 2024 | KIMS - HUBLI

NEET - 2024 | KIMS - HUBLI

C SATHYAM

NEET - 2021 | BMC, BANGALORE

RASHMI PATIL

NEET - 2020 | BMC, BANGALORE

MOHAMMED ZEESHAN

SAMPAT GOPAL GOKAK

NEET - 2022 | BMC, BANGALORE

SIDDHARTH AS

NEET - 2024 | KIMS - HUBLI

NEET - 2024 | BIMC - BELAGAVI

SHASHANK SURAPOOR

NEET - 2024 | MMCRI - MYSORE

ADHITHYA SUDARSAN GOKHALE SHRIDHAR BIRADAR

NEET - 2024 | SABVIMS - BENGALURU

POOJA N

DAY & RESIDENTIAL

SEPARATE HOSTEL FOR BOYS & GIRLS

—~
TARUN N

NEET - 2021 | KIMS, HUBLI

y —~ = -~
NACHIKET KEMPANNA SINDHU VADAVADAGI

NELMANGALA - LTM BOYS CAMPUS

#2/5, Narayanappa Palya, Dasanpura, Tumkur Road, Bangalore - 560 062.
+91 95133 30438 / +91 99805 33120




DR ACADEMY IS THE PERFECT DESTINATION FOR MEDICAL ASPIRANTS

THE JOURNEY... m m]
NSEEEITEE'E?(:(I:I%L 2019

TOTAL 2260 MEDICAL SELECTIONS

in seven consecutive years. Our students joined in many reputed medical colleges across Karnataka.

NEET - 2024 | MIMS - MANDYA NEET - 2024 | KIMS - HUBLI NEET - 2024 | SIMS - SHIMOGA

AJEETH MALLAPPA T DEEPTHISM \ SANJ/ANA R VISHAL S PATIL VAISHNAVI REDDY S NAYANA




R

DO RIGHT

1.

Ans.

Sol.

Ans.

Sol.

Ans.

Sol.

Ans.

Sol.

KCET - 2025 (CODE - C4) 1

Consider the following statements:
Statement-I: The set of all solution of the
linear inequalities 3x+8 <17 and 2x+8>12
are x <3 and x >2 respectively.
Statement-II: The common set of solution of
linear inequalities 3x+8 <17 and 2x+8>12
is (2,3).

Which of the following is true?

1) Statement-I is false but statement-II is true
2) Both the statements are true

3) Both the statements are false

4) Statement-I is true but statement-II is false
4

Statement-I: 3x+8 <17 and 2x+8>12
=>x<3 and x>2

.. Statement-I is true

Statement-II: 3x+8 <17 and 2x+82>12
=>x<3 and x2>2

=x¢e[2,3)

.. Statement-II is false

The number of four digit even number that can
be formed using the digits 0, 1, 2 and 3 without
repetition is

1) 10 2) 4
1

Numbers end with 0=3!=6
Numbers end with 2=2x2x1x1=4
Total numbers=6+4 =10

3) 12 4) 6

The number of diagonals that can be drawn in
an octagon is

1) 20 2) 28

1

Number of sides, n=8

3) 30 4) 15

nn-3) 8(8-3)
2 2
=4x5=20

Number of diagonals =

If the number of terms in the binomial

expansion of (2x +3)°" is 22, then the value of

n is

1) 6 2)7 3)9 4) 8
2

3n+1=22 :>n:2=7

S.

Ans.

Sol.

Ans.

Sol.

Ans.

Sol.

Ans.

Sol.

If 4th 10th and 16t terms of a G.P. are x, y and

z respectively, then
1) y=+xz 2) x=\lyz

3 y="27 4) z=xy
1

(ar’)y = (arS)(arls)

>yl=xz

y =z

If A is a square matrix such that A? = A, then
1-A) is

1) A-I 2) I+A 3) -I-A 4) I-A
4

A*=A

A® = A?

(I—AP =I1—A®—3A +3A>

=1-A% -3A% + 3A?
=1-A

If A and B are two matrices such that AB is an
identity matrix and the order of matrix B is
3 x4 then the order of matrix A is
1) 3x3 2) 4x3 3) 4x4

2

AB=1I, OB)=3x4

To defined matrix AB,

No.of columns in A is equal to No.of rows in B.
*+ AB is identify matrix

. OA)=4x%x3

4)3x 4

Which of the following statements is not
correct?

1) A diagonal matrix has all diagonal elements
equal to zero

2) A symmetric matrix A is a square matrix
satisfying A'=A.

3) A skew symmetric matrix has all diagonal
elements equal to zero

4) A row matrix has only one row

1

A square matrix which contains all elements
are zero except diagonal element.
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Sol.

11.

Ans.

Sol.

12.

Ans.

Sol.

13.

Ans.
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11
If a matrix A= [1 J satisfies A® =kA’, then

the value of k is

1

1)1 2) — 4) 6 4) 32
) ) 35 ) )
4
A2: 2 2 :21A1

2 2
A’ =22 A
A% =2°A'
KA' =2°.A'
K =32

k 2
If A= {2 k} and |A3| =125, then the value of

k is

1) +3 2) -5 3) -4 4) +2
1

A" =125 =|A|=5

|A|=K* -4

5=K’-4 = K=1+3

If A is a square matrix satisfying the equation
A*? -5A +71=0, where I is the identity matrix

and O is null matrix of same order, then A =
1

1) —(A-5I) 2) 7(51-A)
1 1

3) <(71-4) 4) —(51-A)

4

A (A% —5A +7I)= A (0)
A-5A7'A+7AI=0

A =%(SI—A)

If A is a square matrix of order 3x 3, detA=3
then the value of det(SA’l) is

1) 3 2) 27 3)9 4)

W[+

3
|A|=3

3A7 = (3)|A]" = 271 —27( L]0
Al 3

13
If B= L } be the adjoint of a matrix A and
o
|A| =2, then the value of a is
1)5 2) 2 3)3 4) 4
1

Sol.

14.

Ans.

Sol.

15.

Ans.

Sol.

16.

Ans.

Sol.

B =adjA
[B| =|A]
a-3=2
T a=5

The system of equations 4x+6y=5 and
8x+12y =10 has

1) Infinitely many solutions.
2) A unique solution

3) Only two solutions

4) No solution

[

4 6
|A|:‘ ‘:48—48:0
8 12

, {12 —6“5} {60—60} {O}
(adjA)B = = = =0
-8 4|10 -40 +40 0

If a=i+2j+k,b=i-j+4k and é=i+j+k
are such that a+Ab is perpendicular to €,
then the value of A is
1) £1 2) -1

2

(@+Ab).c=0
(L+2)i+(2-1)j+(1+40k).(+j+k)=0
1+A+2-A+1+41=0

4h=-4= rA=-1

3)0 4) 1

If ‘§|=10,|B‘=2 and d-b=12, then the value

of |axDb

1) 10
3

2 x 5\2 +(aB) = \af \5\2
axbf =[a"[B - (aB)°

= (100)(4) - 144 = 400 — 144 = 256

is

2) 14 3) 16 4) 5

‘5x5‘216
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Ans.

Sol.

18.

Ans.

Sol.

19.

Ans.

Sol.
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Consider the following statements:

Statement (I) : If either |§| =0 or ‘B‘ =0, then

da-b=0.

Statement (II) : If axb=0, then a is
perpendicular to b.

Which of the following is correct?

1) Statement (I) is false but Statement (II) is
true

2) Both Statement (I) and Statement (II) are
true

3) Both Statement (I) and Statement (II) are
false

4) Statement (I) is true but Statement (II) is
false

4

If ab=0 then |é|:0 or ‘B‘=Oor 6=g

If axb=0 then |é|=0 or ‘B‘=Oor 0=0ormn

If a line makes angles 90°,60° and 6 with x,
y and z axes respectively, where 6 is acute,

then value of 0 is

2) g 3) d

1)~ R o

I
4 2

4
cos? o + cos? B+ cos? y=1

c0s290° + cos?60° +cos?0=1

0+l+c0329=1
4

| w

cos? 0=

ol% »

cosO = = 0=

I
6

The equation of the line through the point

(0,1,2) and perpendicular to the line
x—1:y+1:z—1iS

2 3 -2
X _oy-l z-2 5 x_y-1_2-2

-3 4 3 3 4 3
3)523’__1:2_2 4)§:Y_—1:Z—2

3 -4 3 3 4 -3
1

Using option 1: Line passes through (0,1,2)
and since lines are perpendicular
a,a, +b;b, +ccy

=(2)(=3)+(3)(4) +(-2)(3)

=-6+12-6=0

20.

Ans.

Sol.

21.

Ans.

Sol.

22.

Ans.

Sol.

A line passes through (-1,-3) and

perpendicular to x+ 6y =5 . Its x intercept is

1 1
1) —= 2) -2 3) 2 4) =
) =5 ) ) ) 5
1
1
m; = —gthenm2 =6

Equation of line passing through (-1,-3)
and perpendicular to given line is
y+3=6(x+1)

. -1
For x intercept put y =0 then x = >

The length of the latus rectum of x* + 3y’ =12

is

1) 1 units 2) 4 units
3 3

3) 24 units 4) % units
2

2 2
X .Y -1,a?=12,b>=4,a>b
12 4

2b* 2.4

Then LLR= =

a 12

Gl

o xt-Ux
lim———— is
x—1

Jx -1

1) 7 2) does not exist
1
3) - 4) 0
) 5 )
1
1
4x° - ———
4 p—
lim = Vx = lim—Q&(byL'Hosptal Rule)
x—1 X _1 x—1 1 _ 0
2vx
= = = 7
1
2
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DR
23. Ify= COS_X , then
1+ sinx
d -1
@) =
x 1+sinx
d 1
(b) T = —

dx 1+sinx

(c) Y _ Lo (E —ij

dx 2 4 2
(d) Y _ 1 (E - Ej
dx 2 4 2

1) Only a is correct
2) Both a and c are correct
3) Both b and d are correct
4) Only b is correct

Ans. 2
Sol. 9 _ (1+sinx)(-sinx)—(cos x)(cos x)
©odx (1+sinx)2
_ —l-sinx -1
(1+sinx)2 1+sinx
Also
2 X . . X X . X
cos? = —sin’>  cos= -sin=
y= COSX ) 2 2 2
= > = -
1+ sinx (COSXJrSian cos > +sin>
2 2 2
:tan(z_ﬁj
4 2

Then dy _ sec? [E - Ej(—lj
dx 4 2 2

24. Match the following:
In the following, [x] denotes the greatest

integer less than or equal to x.

Column -1 Column - II

(a) x|x| (i) | continuous in
(1)

(b) |X| (ii) | differentiable in
(-L1)

(© | x+ [X] (iii) | strictly increasing
in (-1,1)

(d) |x - 1|+| X + 1| (iv) | not differentiable
at, at least one
point in (-1,1)

1) a-iv,b—ii,c—1,d —ii
3) a - iii, b-ii, c-iv, d-i
2) a - ii, b-iv, c-iii, d-i
4) a—i,b—ii,c —iv,d —iii
Ans. 3
-x% x<0, .
Sol. x|x|= is differentiable in (-1,1)
X2; x>0

\/Q is not differentiable at x =0

x-1; -1<x<0 |, .
is strictly
X; 0<x«<l1

x+[x]:{

increasing |x — 1|+ |x + 1] is continuous in (-1,1)

25. The function f(;;):{e vax L, x<0
b(x-1] , x>0
differentiable at x =0. Then
1) a=3,b=1 2)a=-3, b=1
3)a=3,b=-1 4) a=1b=1
Ans. 2

Sol. LHL =RHL
=e° +0=b(—1)2
=1=b>b
LHD = RHD
=e* +a=b(2(x-1))

=1l+a=-2b=>a=-3

1
ex -1
26. A function f(x)=1 !
ex +1
0, ifx=0
1) not continuous at x=0
2) differentiable at x =0
3) differentiable at x =0, but not continuous

,ifx=20 .
, is

at x=0
4) continuous at x=0
Ans. 1
1 1
x_1 -h_1 g
Sol. LHL= Lt == Lt ° S |
x>0 = X—)(O*h) L ]_
ex +1 eh+1
1 1
X _ h _
RHL= Lt &1 1t & =1 q(byL HosptalRule)
x—0t = X—>(0+h) l
ex +1 eh +1

LHL # RHL then f(x) is not continuous at x=0

27. If y=asin’t,x =acos’t, then dy at t:% is
dx 4
1
1) —— 2) /3 31 4) -1
) NE ) ) )
Ans. 3

(dy)
ay L,
Sol. d_Y= dt) a3sin“txcost

= =—tan(t
dx (dX) a.3cos” tx(-sint) (1)
dt
At t:%,d—y:—tan(%jzl
4 "dx 4
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28. The derivative of sinx with respect to logx is
1) xcosx 2) cosx 3) cosx 4) cosx
logx X
Ans. 1
Sol. Let y=sinx,z =1logx
)
Then dy _\dx) _cosx X COS X
“ &) )
dz X
29. The minimum value of 1-sinx is
1) -1 2)1 3)2 40
Ans. 4
Sol. -1<sinx<1
=>12-sinx2>-1
=>1+1>21-sinx>1-1
=0<1-sinx <2
Then min value =0
30. The function f(x)=tanx -x
1) always decreases
2) never increases
3) neither increases nor decreases
4) always increases
Ans. 4
Sol. f(x)=tanx-x
f! (x) =sec’x-1=tan?x>0,Vvx
Then f always increases
31. The value of J'Lis
(x+1)(x+2)
1) logx_:l +c 2) logX+2+c
xX—-2 x+1
3) logXJrl +c 4) logx_1 +c
X+ 2 X+ 2
Ans. 3
Sol. 1 = LI
(1+x)(x+2) x+1 x+2

1

1 1
J(x+1)(x+2)dx:Ix+1dX_J(X+2)

log|x +1| - log|x + 2| + ¢

dx =

+C

“1lo x+1
gx+2

1
32. The value of J. sin®xcos*xdx is
-1

1) n 2) /2 3)0 4) - /2
Ans. 3
Sol. f(x)= sin® x cos* x
f(-x)= —sin® xcos* x = —f(x)
1
j sin®xcos*xdx=0
-1
a
{J. f(x)dx = Owhenf(-x)= —f(x)}
33. The value of J‘ f1+s1n dx is
1) 4 3)0 4) 8
Ans. 4
Sol. ,1 + sm
on 2
= J\] cos + sin[ED dx
4
0
on
J ( + sm(XD dx
4
21
=4 {sm (Ej —Cos (5)}
0 4 4) 1o
=4|sin (Ej —cos (Ej - (sinO —cos Ej
2 2 2
=4[(1-0)-(0-1)]=4x2=8
dx
34. ——— equals
J-x2 (x4 +1 o/
1 1
1) (x4+1)4 +c 2) —(x4+1)4 +c
1 1
4 4 4 4
3) —[X le tc 4) [X :1] +c
X X
Ans. 3
1
Sol. d
° J. 2( 4)3/4 (1 1 )3/4 *
x“(x +
<
1
Put 1 + —4 = t
X
—4x°dx =dt
dt

x2dx = —
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J, —dt -1 t—3/4+1

= =— +cC
3/4 _

4t 438 4

1

xt+1)4
+C =-— 7} +cC
X

Il
|
TN
—_
+
M
N
~—
N

1
35. Ilog(}——ljdx is
X
0

1)0 2) log.2
1
3) log. | = 4) 1
) ge[QJ )
Ans. 1
1
Sol. Letl= J‘log (I_—Xj dx
0 b4

(log(1-x)-log(x))dx

f(x)dx =].f(a—x)dx

Ot~ O Oy

(logx —log(1-x))dx

(=-1= =0

36. The area bounded by the curve y = sin(%) , X

axis, the lines x=0 and x=3n is

1) % sq. units 2) 6 sq. units
3) 3 sq. units 4) 9 sqg. units
Ans. 2
Sol.
3 (x For
J. sin| = |dx x
2 3 xe(0, 3n),sin(§j >0
| —cos(x/3) o W
Lo1/3
=-3 [cos (ﬁj —cos O]
3
77X
=-3(-1-1)=6sq units © o7

37.

Ans.

Sol.

38.

Ans.

Sol.

39.

Ans.

Sol.

40.

Ans.

Sol.

The area of the region bounded by the curve

y=x2 and the line y =16 is

1) 256 sq. units 2) o4 sq. units
3 3

3) 128 sq. units 4) 32 sq. units
3 3

1

16 16
A:QE[xdy:ZE[\/;dy

2 16 4 3/2
=2x§[ 2| ==(16)
_ 4 eq-20

3

General solution of the differential equation

dy + ytanx = secx is
dx

1) ytanx =secx +c 2) cosecx = ytanx + ¢
3) xsecx =tany +c
4

P=tanx,Q =secx

4) ysecx =tanx +c

ILF =secx

ysecx=J‘secx.secxdx+c=Tanx+c

If 'a’ and 'b' are the order and degree
respectively of the differentiable equation

dgy > dy 3
(—) +[—j +x*=0,then a—b=

dx? dx
1) 2 2) -1 3)0 4) 1
3
Order =2, degree =2
a=2,b=2
a-b=0

The distance of the point P(-3,4,5) from yz

plane is

1) 5 units 2) -3 units
3) 3 units 4) 4 units
3

The distance of P(-3,4,5)from yz-plane is
=I5l
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41.

Ans.

Sol.

42.

Ans.

Sol.

43.

Ans.

Sol.

44,
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If A={x:x is an integer and x> -9 = 0}

B ={x:x is a natural number and 2<x < 5}
C={x:x is a prime number <4}

Then (B-C)UA is,
1) {2,3,4}

3) {2,3,5}

2) {3,4,5}
4) {-3,3,4}

4
A={-3,3},B={2,3,4},C = {2,3}
B-C={4},(B-C)UA={-3,3,4)

A and B are two sets having 3 and 6 elements
respectively.

Consider the following statements.

Statement (I): Minimum number of elements in
AuUBis 3

Statement (II): Maximum number of elements
in AnB is 3

Which of the following is correct?

1) Statement (I) is false, statement (II) is true
2) Both statements (I) and (II) are true

3) Both statements (I) and (II) are false

4) Statement (I) is true, statement (II) is false
1

n(A)=3,n(B)=6
Minimum elements of A UBis 6

Maximum no.of elements of AN Bis 3
Domain of the

f(x)=——— s

Jo-2)(x-5)

function f, given by

1
(x-2)(x-5)>0
(—00,2) v (5,00)

If f(x)= sin[n2 ] x —sin [—nz J x, where [x]=
then which of the

b 1
2) f(zj=1+$

4) £(0)=0

greatest integer
following not true?

T
i(z)-1

3) f(n)=-1

<X,

Ans. 3

Sol.

f(x)=sin9x +sin10x

45.

Ans.

Sol.

46.

Ans.

Sol.

47.

Ans.

Sol.

48.

Ans.

Sol.

hh
7\
N
N
Il
®|H

T
0

f(n)=0
f(0)=0
Which of the following is not correct?
1) sin2n = sin(—2n)

2

) sin4n = sin6n

3) tan45° = tan(—315°)
4)

4

cosSn=-1

cos5n = cos4n

cosd4n=1
cos 51 # cos 4n

If cosx+cos’x=1, then the value of
sin’x + sin*x is

1)1 2)0 3)2 4) -1

1

cosx = cos? x —1=sin® x

sin® x + sin* x = cosx + cos? x =1

The mean deviation about the mean for the
data 4,7,8,9,10,12,13,17 is

1) 3 2) 8.5 3) 4.03 4) 10
1

— 4+7+8+9+10+12+13+17

X = =10

8

if 6+3+2+1+0+2+3+7 —ﬁ—S
n 8 8

A random experiment has five outcomes
w,,W,,w,,w, and w,. The probabilities of the

occurrence of the outcomes w,,w,,w, and wy

are respectively %,a,b and é such that

12a+12b-1=0. Then the probabilities of
occurrence of the outcome w, is

L o) L 3~ 42
3 6 12 3

4

12a+12b =1

a+tb=1/12

Wi+ Wy + W3 +Wg +wWg =1

l+a+w3 +b+i:1
6 12
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49.

Ans.

Sol.

50.

Ans.

Sol.

S1.

Ans.

Sol.

52.

Ans.

Sol.
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W3 +l+i+axb=1
6 12

11 1

3t—+—+—=

16 12 12

1 2
W3=1—§3W3=§

A die has two faces each with number '1', three
faces each with number '2' and one face with
number '3'. If the die is rolled once, then P(1

or 3) is
1 1 1 2
1) = 2) = 3) = 4) =
)2 )3 )6 )3
1
2 1
P(1)==,P(3)==
(1)=2,P(3)-=

P(lroS):P(1)+P(3):3/6:%

Let A={a,b,c}, then the number of

equivalence relations on A containing (b,c) is

1) 3 2) 2 3) 4 4) 1
2

R; ={(a,a),(3,b),(c,c),(b,c),(c,b)}
R, =universal relation

No. of equivalence relations =2

Let the functions " f "and " g " be
f: [O,g} — R given by f(x)=sinx and

given g(x)=cosx, where R is the set of real

numbers

Consider the following statements:
Statement (I): f and g are one-one

Statement (II): f+g is one-one

Which of the following is correct?

1) Statement (I) is false, statement (II) is true
2) Both statements (I) and (II) are true

3) Both statements (I) and (II) are false

4) Statement (I) is true, statement (II) is false
4

St II is false, f+g =sinx + cos x
(f+g)(0)=(f+g)(n/2)=1

sec? (tan’12) + cosec? (cot’13) =

1)5 2) 15 3) 10
2
tanA =2,cotB=3

sec? A + cosec’B = (\/5)2 + (\/ﬁ)z =15

53.

Ans.

Sol.

54.

Ans.

Sol.

55.

Ans.

Sol.

56.

Ans.

2cos™'x =sin™’ (2xV1 -x2 ) is valid for all values

of 'x' satisfying

1) -1<x<1 2) 0<x<1
1 1
3) —=<x<1 4) 0<x<—
' 2 N
3
T <ocosix<X
2 2
“Tccostx<l
4 4
Oécos’lxgﬁzlz)czL
V2
Consider the following statements:

Statement (I): In a LPP, the objective function
is always linear.

Statement (II): In a LPP, the linear inequalities
on variables are called constraints.

Which of the following is correct?

1) Statement (I) is true, Statement (II) is false
2) Both Statements (I) and (II) are false

3) Statement (I) is false, Statement (II) is true
4) Statement (I) is true, Statement (II) is true
4

Both are true

The maximum value of z = 3x+ 4y, subject to

the constraints x+y <40,x+2y <60 and

X,y 20 is

1) 120 2) 140 3) 40 4) 130

2

Corner points z=3x+4y

x=(0,0) 0

B =(40,0) 120

C=(20,20) 140 (Maximum)
D =(0,30) 120

Consider the following statements.

Statement (I): If E and F are two independent
events, then E' and F' are also independent.
Statement (II): Two mutually exclusive events
with non-zero probabilities of occurrence
cannot be independent.

Which of the following is correct?

1) Statement (I) is false and statement (II) is
true

2) Both the statements are true

3) Both the statements are false

4) Statement (I) is true and statement (II) is
false

2
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DO RIGHT

Sol.

57.

Ans.

Sol.

58.

Ans.

Sol.

59.

Ans.

Sol.

KCET - 2025 (CODE - C4) 9

E &F are independent E' & F' also

independent

If A and B are two non-mutually exclusive
events such that P(AIB)=P(BIA), then

1) A=B 2) AnB=¢
3) P(A)=P(B) 4) AcB but A#B
3
P(AB) P(BA)
PB)  P(A)
P(A)=P(B)

If A and B are two events such that AcB

and P(B)#0, then which of the following is

correct?

1) P(A|B)<P(A) 2) P(A| B) ZP(A)
P(B)

4) P(A|B)=%

AcB=ANnB=A
=P(AnB)=P(A)

P(éjz P(ANB) P(A) L P(A)

B) P(B) P(B)

Meera visits only one of the two temples A and
B in her locality. Probability that she visits

temple A is % If she visits temple A,% is the
probability that she meets her friend, whereas
it is % if she visits temple B. Meera met her

friend at one of the two temples. The
probability that she met her at temple B is

n2 3 52 4T
16 16 16 16
3
2 3
P(E,)=2,P(E,)=2
( 1) 5’ ( 2) 5
1 2
P(A/E,)=—=,P(A/E,)=2
( / l) 3’ ( / 2) 7
3 2
577 9
P(E,/A)= _9

60.

Ans.

Sol.

If Z, and Z,

numbers, then which of the following is not
true?

1) |lez|:|zl|'|Z2|

are two non-zero complex

2)272,-2,-2,

3) |2, +Z,| 2|Z,| +|Z,)|
Y 2,+2, =242,
3

Z1tZo9 #21+ 2o




NEET-2021 | MNICRI, MYSORE Yl NEET-2024 | RINIS - RAICHUR NEET-2021 | SMC, CHENNAI NEET-2023 | BMC, BANGALORE

/-

-
PRAJWAL PATIL B R

AMOGH B KOVALLI 1 SHIVADEEP SS PANKAJ BASANAGOUD P ARCHANA SUBHASH K




INDIVIDUAL ATTENTION, CARING AND MOTIVATION, WEEKLY, CUMMULATIVE AND GRAND TESTS IN THE NEET & JEE PATTERN

Il PU SCIENCE ANNUAL EXAM - 2025 TOPPERS

20259152883 20259229052

20259142895

20259228895

20259153027

20259152929

20259153006

JAYANTHK S
20259142981

MANY
MORE...

20259153038

JEE MAIN TOPPERS OF DR ACADEMY

NIKHIL R

(@ EE Adv
95.69

PERCENTILE

G )08.87

PERCENTILE
240310806545 - 2024

220310237864 - 2022

M SRIRAM SAI SANDEEP

IIT &V

99.62

PERCENTILE

240310289962 - 2024

" MAKKENA SAI PRAMATHI

797,12

PERCENTILE

23031 0157233 - 2023

JEE MAIN - 2025 PHASE-I ACHIEVERS

SUBJECTWISE
TOP PERCENTILE | 4 PHY MAT

HAHSH B CHOUGALA

Qe APP.NO. 250310925539

JAYANTHK S

JALAHALLI
ADDRESS - #42, 100FT ROAD,
KAMMAGONDANAHALLI,JALAHALLI WEST,
BENGALURU - 560 015

+91 90080 30463

+91 90080 30896
+91 95133 30437

® info@dracademy.co.in

HOSAKOTE

LTI BOYS CAMPUS :- Defence Colony, Virognagar,

Cheemasandra, Avalahalli South, Hoskote - 560049
LTM GIRLS CAMPUS :- Ist Main Road,
Beside Adithya PU College,
4th Cross, TG Extension, Hoskote.

+91 97413 32998
+91 81473 97999
+91 95355 27713

https://dracademy.co.in

NELMANGALA
LTM BOYS CAMPUS

DASANPURA
#2/5, Narayanappa Palya,
Dasanpura, Tumkur Road,
Bangalore - 560 062.

+91 95133 30438
+91 99805 33120

@dr_academy12



	ADDRESS.pdf
	Page 1
	Page 2
	Page 3
	Page 4

	ADDRESS.pdf
	Page 1
	Page 2
	Page 3
	Page 4

	LAST.pdf
	ADDRESS.pdf
	Page 1
	Page 2
	Page 3
	Page 4

	ADDRESS.pdf
	Page 1
	Page 2
	Page 3
	Page 4



